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5. (@) %+ y[%j:cosz X M1
Int. factor /™% = e ") _secx M1, Al
Integrate: ysecx=fcos x dx M1, Al
ysecx=sinx+C Al
(y =sin xcos x + C cos x) (6)
(b) | Wheny=0, cosx(sinx+C)=0 , cosx=0 M1
2 solutions for this (x = "/, *™/,) Al (2)
(c) [y=0atx=0: C=0 : y=sinxcosXx M1
(y =%sin 2x)
Shape Al
Al (3)
Scales
(11 marks)
6. (@@) |x+(y-2i=2x+(y+i) M1
X (y—2)7 = 40¢ + (v + 1))
(i) |so 3x*+3y*+12y=0  any correct from; 3 terms; isw Al (2)
yT ) Sketch circle | Bl
> Centre (0,-2) | B1
QD r = 2 or touches axis | B1 3
(b) [w=3(z-7+11) Bl
=3z 21+ 33i B1 2
(7 marks)
[P6 June 2002 Qn 3]
7. Zw =
12 (coszcosz—” —sinZsin 2—”) +12i [sin Zcosz—” +cos Z sin 2—”) 51
4 3 4 3 4 3 4 3
=12 [cos&jtisin&} M1 A1l
12 12
(3 marks)

[P4 January 2003 Qn 1]
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